DX D
P NEHY HFE P
D EXNEMAIY X2

_ _ _ Muo
SN CR(EH) - MRAY - BES o e timE=El
ot 2,176,672 13,119,561 A~ 10,942,889
= 1,040,000
= 1,043,672
£ 93,000
Y LA 2E 2,106,472 13,049,361 A 10,942,889
= 1,040,000
= 973,472
2 93,000
EXNZHAIY XA 119,545 5,100 114,445
EXNFMAY FH 16,700 5,100 11,600
201 LetEHH| 13,700 2,700 11,000
01 AtS22/Hl 11,000 0 11,000
OXA 23s 23 11,000
02 25234l 2,700 2,700 0
OX&EEH RXdl 2,700
203 ¥R =&l 3,000 2,400 600
03 AZFXHRFAH| 3,000 2,400 600
ONBGR=H 3,000
SAMXI BEZAH CIXES 102,845 0 102,845
308 XXl &I S0l & 102,845 0 102,845
01 XML EXS 102,845 0 102,845
O3AXIt EEZAM CXEs
342,815,000& *30% 102,845
DAHMSAO NFSEH P& 396,237 300,237 96,000
= 94,000
= 209,237
2 93,000
OXNEXHAS AIBHA 94,000 94,000 0
= 94,000
308 XX HHSOIA 94,000 94,000 0
= 94,000
01 HXSHBLEEXS 94,000 94,000 0
OXEBH I A 94,000
= 94,000
NE=z A o CHIARL ZA 14,354 14,354 0
101 el | 14,354 14,354 0
04 JIZtHIZ2E2ENEE S 14,354 14,354 0
OXNE=gEAE 2 THAH 12,800
o428 = 1,554
SEHIEX XNSLAEY| 101,883 101,883 0
308 MXIHHMSOIA 101,883 101,883 0
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X0
By MES P
DWEHO AWM P GEEREED
_ HAc =
M- T ShRI(31) - M A 01l & on Hlnsa
01 AXNSMBELEEXS 101,883 101,883 0
OEEHZIERXN XN=SLMELIALY XA 101,883
Olgl= 18l (Green) 2IR2IMEl AlIAE RH 186,000 0 186,000
& 93,000
£ 93,000
207 Ao 186,000 0 186,000
= 93,000
£ 93,000
02 ™AHEHI 186,000 0 186,000
OB0lgtsE D2l (Green) AT I AIAE DY 186,000
= 93,000
£ 93,000
48 J|gt3=s 150,690 548,690 A398,000
OIXIEAOLE CIXIE S Al 150,690 10,690 140,000
308 XX HHSOIA 10,690 10,690 0
01 XML EXS 10,690 10,690 0
O30l NEY0E CIXNEs XA 10,690
405 KH&HFSHI 140,000 0 140,000
01 ML ESHSHI 140,000 0 140,000
OZF0| AHAE CIXEE fst FA I
g 140,000
NeldE Jet= ,440,000 12,195,334 A 10,755,334
= 946,000
= 494,000
= 88 Y MES 440,000 60,000 380,000
= 100,000
= 340,000
201 LetHH| 200,000 60,000 140,000
= 100,000
& 100,000
01 AFR22lH| 200,000 60,000 140,000
OM=2x EEXH 200,000
= 100,000
= 100,000
308 MXIHHMSOIA 240,000 0 240,000
01 HXSMBLEXS 240,000 0 240,000
OEZ2EF4 MET 800,000, 000& *30% 240,000
22 XIStAIZE2 & &t 800,000 5,200,000 24,400,000
= 800,000
403 XXM S K20l 800,000 5,200,000 24,400,000
= 800,000
01 MXISMA=2E = 800,000 5,200,000 24,400,000
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DX D
PN HFE 2
D XEE g

=
=

S . M. O (5 HEAY . B2 Ab OH SE= Hl =2+
OZZ2 XIGtAIE =2 MASHALS 800,000
= 800,000
C2Y Y ASEHS RFHAMA 150,000 6,085,334 A5,935,334
= 46,000
= 104,000
403 XXIESHHSA=01H 150,000 6,085,334 Ab5,935,334
= 46,000
= 104,000
01 RXSHMA2Ex 150,000 6,085,334 A5,935,334
OoZodcza 2| (o 46,000
= 46,000
o9z HZ(EX 104,000
2 S5 2l AIAE 15 50,000 0 50,000
405 K&t SH| 50,000 0 50,000
01 XL SSFHSHI 50,000 0 50,000
O=gd S5 - 22l A 5 50,000
HY2HEH(XHD) 70,200 70,200 0
S22l 4,200 4,200 0
A2FH| 4,200 4,200 0
203 HERF&| 4,200 4,200 0
04 EARIERFEHI 4,200 4,200 0
OXN&ENHR=2A 4,200
=3l 66,000 66,000 0
Jl23tl 66,000 66,000 0
201 Let23| 32,000 32,000 0
01 AtE222|Hl 32,000 32,000 0
ONBGR=X 32,000
202 (4 H| 34,000 34,000 0
01 =LA bI 34,000 34,000 0
OXNEBHEFA 34,000
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